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INSTRUCTIONS TOCANDIDATES
Tius Booklet contains 200 questions in all comprising the following
four parts -

Part — A: Genvral Intelligence & Reasoning (50 Questione)
Part — B:  General Awareness (50 Questions)
Part — C: Quantitative Aptitude (50 uestions)
Part — D: English Comprehension (50 Questions)

In questions sct bilingually m English and Hmdi i case of discrepancy,
the English version will prevail.

All questions are compulsory and carry equal marks.

The paper carries negatioe marking. 025 warks il be deducted jor each
wrong ansiwer.

Before you start to answer the questions you mus! check up this
Booklet and ensure that it contains all the pages (1-24) and see that no
page is missing or repeated. If you find any defect in this Booklet,
you must get it replaced émmediately.

You will be supplicd the Answer-Sheet separately by the Invigilator.
Youmustcomplete and code the details of Namse, Roll Number, Ticket
Number asnd Test Form Number of the Answer-Sheet carelully. You
must also put your signature and Left-Fond thumb inpression on the
Answer-Sheetal the prescribed place before vou actually start answering,
the questions. These instructions must be tully compliad with, failing
which, your Answer-Sheet will not be evaluated and you will be
awarded ZERO mark. (VH /Cerebral Palsy candidates will be have
to ensure that these details are filled in by the scribe. However all
VH/Cerebral Palsy candidates must put their Left-Hand thumb
impression af the space provided in the Answer-Sheet. Those
VH/Cerebral I'alsy candidates who can sign should also put their
signatures in addition to thumb impression.)

Answers must be shown by completely backening the corresponding
ovals on Side-1l of the Answer-Sheet against the relevant question
number by Black/ Blue Ball-Point Pen Only. Answers which are not
shown by Black/Blue Ball-Point Penswill ot be awarded any mark.
A machine will read the coded information in the OMR Answer-Sheet
Incase the information is incomplete or ditlerent from the mformation
givenin the application form, such candidate will be awarded "ZERCO’
mark.

The Answer-Sheet must be handed over to the Invigilator before you
leave the Exammmation Hall

Failur= to comply with any of the above instructions will render a
candidate liable to such action/ penaity as may be deemed fit

The runner in which the different questions are to be answered has
been explained at the back of this Booklet (Page No. 24), which you
should read caretully before actually answering Lhe questions.
Answer the questions a5 quickly and as carefully as you can. Some
questions may be difficult and others easy Do not spend too much
time on any (question,

In hieu of Question Nos. 39 to 50 and 134 0 150 relating, 1o figural
portions, alternate questions have been provided o be attempted by
VH/Cercbral Palsy candidates only.

Norough work is to be done on the Answer-Sheet. Space forrough
wark has been provided below the questians.

“Mobile phones and wireless communication devices are
completely bamied in the examination hallsjrooms.
Candidutes are advised not fo keep mobile phones/ any other
wireless conmmimication devices with them coen switching it
off in their own interest. Failing to comply with this
provision will be considered as using unfair means in the
examination amd action will be taken against tienr fncluding
cancellation of their candidature.”
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PART - A / W - &
GENERAL INTELLIGENCE & REASONING / 9= afgawl Ud dedhviiad

Directions : In question numbers 1 to 3 from the given
alternative words, select the words which cannot be formed
using the letters of the given word.

faeer : wem W 1 9 34, F=feiEa fHEen § 4 9% 9=
Sfiu &t fau 10 v & A5 F A w0 g e S

TFAEI
1.  ‘SUPERINTENDENT
(A) DOCTOR (B) NURSE
(© INTENSE (D) DENTIST
2 DISTRIBUTION
(A) SITUATION «~ (B) TUTION
(©) TRUST (D) DISTURB
3.  INCONVENIENCE
(A) CONVENE (B) CONVINCE

(O CONSCIENCE « (D) CONCEIVE

'+ ‘means’—", “—'means ‘X, ‘X’ means’ ="
and * +’ means ' +’. Which combination will give
vou the value of ‘0" ind2*4*12*20%9:

e v HAd — . —TAL 'x'§, x" W AH
‘L WY 4 A A4254%12+20°9F
T HATE A9 0" HE W ?

(A) — = x4 B) + - = x

© X—=++ D) =+ - x

In a certain language FASHION is coded as
FOIHSAN. How is PROBLEM coded in that code ?
frdi wfis Fr2 3 3% FASHION &1 FOIHSAN
fo7mn = § W, 351 #i2 § PROBLEM &1 33 fermn
SR ?

(A) PELBORM =~
(©) RPBOELM

(B) PRBOFELM
(D) ROBLEMP

If ROME is written as MORE then DARE is written
as

Atz ROME %1 MORE e @ 2 dl DARE =1 1
fera) st 2
(A) RADE ~
(©) RDEA

(B) RAED
(D) RDAE

7.

8.

In a certain code "GARNISH' is written as
“RGAINHS”. How will “GENIOUS” be written in
that code ?

AT FIE T ‘GARNISH' F1 "RGAINHS” femi =
T W WS #{ “GENIOUS” @1 &3 fern s 2
(A) NGEOISU «~ By NEGIOUS

(© GENOISU (D) ENGOIUS
Afterinterchanging + and —, 8and 7, which one of
the following becomes correct ?

+ & — T, § 371 TR FAge W At 0
| FA-H1 yeHatd F2l &l ?

(A) 8X2+7—6=9 (B) 7x8+6-9=25
(© 8-743x5=35 D) 64+8x2-7=0 =~

Directions : In question numbers 9 to 13, find the odd
number/letters/number pair from the given alternatives.

2T : WA wEn 97 13 9, fau U faweni 1§ 5 faus gy

R/ HEA I A | '
9. (A) Bristol (B) Geneva
(O Zurich (D) Bc:rcm NG
(A) e (B) S
(© == (D) =%
10. (A) LKM (B) IHI
©Q STR v« (D) ONP
11.  (A) Kidnap — (B)y Kill
() Assassinate (D) Murder
(A) Y=z (B) a4
© T ) w7
12, (A) 326 (B) 338« () 428 (D) 339
13.  (A) 34-30 (B) H-31
© 61-12 D) 25-21
14.  Raju drives 25 km North and turns left and travels

5 km and reaches point ‘0. He then tums nght and
covers another 3 km. Afterwards turns to Eastand
drives 5 km. How much dislance he has to travel to
g0 back to the starting point ?

9 25 T Al = famn & wed 8 &R & 29 5
fe.di. 9o 2 3 O Mg W wa s o | T AR T
et 5 . o 81 39S 42 a2 @ fem A
gt 5 o i =i 21 Ay wiEivE HEg 3 F: A
T | =4 a0 00 a4 S e 7

(A) 25 km/T= 71 ——(B) 30km/f& 51

(C) 35km/f= .51 (D) 20 km/ =0

SPACE FOR ROUGH WORK / 7% &Td & foid 9w
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15.  Kailash walks 3 km to East and turns South and
walks 4 km. Again turns West and walks 6 km.
How far is he from the starting point ?
o 3 1. §d 2o § g § 3 2fem gea
4 f.50, wieral 81 T wivess g2t o fan il e 81

=% WS e 4 fea w52
(A) 5km/fRTL (B) 6km/fH.
(© 7km/fF.t (D) 3km/fF.A.

Directions : In question numbers 16 and 17, one or two
statements are given followed by two conclusions/
Assumptions, land II. You have to consider the statement
to be true, even if it seems to be at variance from commonly
known facts. You are to decide which of the given
conclusions/assumptions can definitely be drawn from
the given statement, Indicate your answer.

9T : T H. 16 317 ¥, UF 71 31 9wa feu 0 F, foras
& Fepd) W, 1R e @ E) s faaw
F1 ¥ T F999 ¥ ? 9 7% @veaa: 94 azd 8 fe
Wt sial &1 | 39! o 4 8, 6 e mu g 9 @
-1 Fifraa w7 | w6 Fead /o feren s v )
39 I 1 e FHifeu |

16. Statement:

The crop condition continues to be critical even after
the rains,

Conclusions:

(T) Thecrop condition was nol critical before rains.

(IT) The crop condition was expected to improve
after the rains,

(A) Ifonly (II) is implicit ~

(B) If both (T) and (IT) are implicit

(Q [fneither (T) nor (T1) is implicit

(D) Ifonly (I)is implicit

ST

A 81 F Fiase HHa 5 f=ufa T o g w

e -

M) =09 F <) FHA S feafa e el o

(1) =FC % a1% FEe 1 1590 3 GHI 39 1 5
gl

(A) g Fend (1m) = £

B) TR (1) SR S EE e

(©Q == () s & Fred () = 8

(D) Faa Frend (1) W& 21

17. Statemenls:
(1) Some Politicians are Social Workers.
(2) All Doctors areSocial Workers
Conclusions:
(I) Some Doctors are Politicians.
(II) Some Social Workers are Doctors as well as

Politicians.

(A) Only conclusion (II) follows
(B) Both conclusions (I) and (1) follow -~
() Neither conclusion (I) nor (I1) follows
(D) Only conclusion (1) follows

B

(1) T2 usHifas, Fmias sl ¢ |

(2) A TafFeas, gmifas S & |

e -

N o AfEas, vl £

(L) 5o U FraHal, Hishede a9 Te-ma= 2r
wl

(A) e Fred () FEera £

(B) Frsd (1) do1 () A1 FrFera 2 |

(© 0 Fd ()3 @ Feed (1) e £

D) Fael =g (1) FEaa 2

Select from the alternatives an appropriate term that
is identical to the term ACEG.

Tem T fashedl | U 399ea 92 IR S TR ACEG &

18.

G
(A) TLM (B) OQsU ~
(© GHJN (D) BDEF

Directions : In question numbers. 19 and 20, arrange the
following words as per order in the dictionary.

T989T : w3 Wen 19 3R 20, FefafiaEy =l 7t s

3 feu U %9 & arEn fad)
19. (1) Consume (2) Consciousness <~
(3) Conscience - (4) Conservation
(5) Consequence
(A) 3,5,2,4,1 B) 3.1,2,54
© 3,2,1,54 (D) 3,2,54,1—
20. (1) Convince (2) Converge

(3) Convenience
(5) Converse

(A) 1,4,3,2,5
© 4,2,53,1

(4) Convalesce

(B) 'l- 31 v

215
D) 43,2,5,1

=
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GJ-2015/Page3



21.  Which one set of letters when sequentially placed at
the gaps in the given letter series shall complete 1t ?
= ME - EN & EEl TEE W OAE A T W
Frefatad § 4@ 917 =@ Sa -39 30 W EHen ?
BR O W NB K OWNB
(A) OWOW (B) RORO
(©Q WNWN (D) OWRW »~
Directions : In question numbers 22 to 24 a series is given,

with one/two terms missing. Choose the correct alternative
from the given ones that will complete the series.

9T WA 9. 229 24 W, T FawA fom €, o /A
Tz qa o/ fau mu famedi F 8 a8 ud fawew 9w S

FTEAF R
22. FAK IEM,LIO, 7 .
(A) OMQ (B) NOP ~
(O MNO D) OrQ
2. 3,535,10,12,35, 2 . 2.
(A) 19,35 (B 17,19
© 19,24 D) 22,35
24 36,34,30,28,24, 2 .
o (&) 22 ® 23 © 26 D) 20

Directions: In question numbers 25to 29, select the missing
number from the given responses.

fdor: v . 259 207, Tou o ol § 6 99 3w 79

EaiEd
2. [a[3[2]8 3
503|192
71337 |70
294 |12]2
(A) 60 (B) 84,7 (O 120 (D) 27
26. 216 343
8 125 512
27 64 ?
35 101 1575
(A) 615. (B) 729 (O 340 (D) 575
27. 2 3 8
4 5 10
f 7 12
@ ) s0 ?
(A) 128  (B) 92 (© 30 ) 200

28.
(A) 26 ) 25 € 23 D) 27
29.
11 12\ 14/J\10
(78 2
6 [ 9 7T 8
(A) 84 (B) 91 € 104 (D) 74

30. Sixmembersofafamily namely A, B,C,D, E, Fare
travelling together. B is the son of Cbut Cis not the
mother of B. A and Care married couple E is the
brother of C. Disthe daughter of A_ F is the brother
of B, How many male members are there in the
family ?
U YIEN F 22 899 A, B, C, D, E, FUS W19 361 %
® & B CH GF E AT ‘C’ B T T T 61

Asnclaafazafad B CHmES D AR

T &1 F BF WE &) TER ¥ fFo1 pu A2 €2
(A) 3 B 2 © 1 D) 4

31.  There are deer and peacocks in a zoo. By counting

heads they are 80. The number of their legs 1s 200.
How many peacocks are there ?

us fafzams 4 fem 2 g € f i w1 3 80 8
FAHI 201 FT WA 200 T 1 W THaA €2

(A) 30 (B) 50 © 60~ (O 20
Ann, Bill and Ken shared some stamps in the ratio

2:3:4. Afteragame, the ratio became5:2:2 If Ann
won 21 stamps, how many did ken lose ?

HfAE s 23 qaF R d g famd =
W T 1| UF S & 918 S 5: 2 28 | Al
A 7 21 feme Sat ot & A ool feme a2

(A) 14 B 21 © 28 D) 7

Directions : In question numbers 33 to 38, select the related
waord/ letiers/ number from the given alternatives,

TaS9T : wom1 Wz 334 38 fau I fa@edl | 4 |eai=2a w1/
el /HeEen w1 9

33.  Insects: Entomology :: Snakes: 7

32

(A) Ophiology (B) Agralogy
— (O Cetology (D) Mycology

Fie : FHiefagq ;- 34 - e

(A) TdfE=A (B) Fid fa=A

() == fFam (D) Fas faam

SPACE FOR ROUGH WORK / 7% &T1d & a9 5%
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3¢ A7
(A) 49 ® 50 < (© 51 (D) 48
35. DFHJ:WUSQ::HJLN:_7_
(A) RTVX (B) TWYZ
(@ PRTW (D) SQOM
36. Kidneys:Nephron:: Central Nervous System: =
(A) Spinal Cord »~ (B) Cerebrum
() Neurons (D) Brain
1@ cAHA : c hEA GEAS ad: _?
(A) FETH ®) AR
© = ) T
37. JOKE:GLHB::RISK: 2 _
(A) SITL (B) QHR]
(©) OFPH (D) ULVN
38. Y2:4::V2: 2
mie ®e @3 ®7

Directions: In question numbers 39 and 40, which answer
figure will complete the pattern in the question figure?
Frder : 39 e 39 AW 40 §, FE-H TH AFG T
AT & Ues T HRI

39.  Question figure/ ¥& JH

Nl and ‘D’ can be represented by 58, 65 elc. Similarly, you
: ’ have to identify the set for the word ‘BEAK'.
Y : Fvr : T TR FaE U HEA-HE G <A TR, S
Answer figures/ S SRR %.ﬁwq’fff%ﬁfﬁq‘xn&mw%l feredi 3 fow 0
oz HEA-HE A & & = g S T E, HE6 i A
b — feu U ) SRl A 21 S | W SR i e
03 47 7 # 3t TR 1S 56 9 T IR A UF AN
) @ ©, D) 1 e 9H 1 WA A0 4G § W /e g S
) et AT S | I A C A T 03, 10 A1 R 9 =
40.  Question figure/ ¥ 3T e ‘D EI 58, 65 FE 2 FE T Tewdl €1 TH AW H
R W T feu v “BEAKS & 190 W 1 e
42 Matrix/3TgE-1 Matrix/ 3=z - 11
D123+ 5l6|7]|8]|9
il olCc|BlO|A|T 5 |R[E|K]|D]|L
A‘“‘”“"P’es/m""'i;iaai T TalclT|Blo] [6[D|[LIR|E[K
L H 2|BlOolA|T]|C 7I|E|K|D[L[R
3|T|C|B|O|A 8| L|R|E|K|D
slolalTlCclB]| [9|K|D|L|R|E
£ (A) 32 76 75 22 (B) 20 10 87 57
(A) (B) (©) D) (© 44 88 10 75 (D) 44 75 22 88+«
p

41.  If a mirror is placed on the line MN, then which of
the answer figures is the right image of the given
figure?

7fz 1w =du ST MN TE1 W @l a4 S
ST B - 4T S YA ST e Wi
=it ?

Question figure / 9% :ﬂl%fﬂ
|\ W00
™5
2
Answer figures/ 311 ﬂm
X ‘v J
‘ 1 i ) 1 )
1 . ~ ‘ =
(A) (B) (©) (D) —

Directions : A word is represented by only one set of
numbers as given in any one of the alternatives. The sets of
numbers given in the alternatives are represented by two
classes of alphabets as in two matrices given below. The
columns and rows of Matrix | are numbered from 0 to 4
and that of Matrix I are numbered from 510 9. Aletter from
these matrices can be represented first by its row and next
by its column, e.g., "A’ can be represented by 03, 10 etc.,

Y SPACE FOR ROUGH WORK / T% &Td & foid 57&
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If a paper is folded in a particular manner and a
punch is made, when unfolded this paper appears
as given below in the question figure. Find out the
manner in which the paper is folded and the punch
is made from the answer figures given.

afe fadl w0 =1 us fafare iy 4 iz v 92
a1 =10t e W AR TR A o1 T W9 SE
Ju1 feme oo ¥1 <1 N S smafadl 9 A dEE

77
Question figure/ W9 3TFid
o. 1 .o
'.I‘.
r .-.IT.—
ol VR
Answer figures/ W AT
. | = 1 . 1
A s (5e |-
¥y I i i S
| I | |
(A) (B) © (D)

Select the answer figure in which the question figure
15 hidden.

TH I ATH TG I F79 B0 (GHH A AT TS F9l
B

Question figure/ ¥ 3Fia

|7

Answer figures/ 57t

A) D)_~-

45.  Ifapaperisfolded as shown in the figure to forma

cube then the pairs of oppaosite faces are

A
|
oeE
0
+ and = 4+and O| |+ and A| |Aand O
AandO| |*and O] |+ and O] |+ and +
Dand Q| |Aand O] |Qand O] |Dand O
(A) (B) ©) (D)

afe w4 957 & forg S  2uie F7EE =
TT1 FIT T AT & Gelehl 4 A5 Hd @i ?

A
O
[+lO]=]
+ 3 =||+3RO||+3A||AFROD
A 3t D eﬁm:] = AR 0| |+ 3=
03 o Ol loarpo| |osikO
(A) (B) (©) (D)

Directions : In question numbers 46 and 47, among the
four answer figures which can be formed from the cut out
pieces given in question figure.

g9 : WA 46 347 TriTeiEd 2 §U ZHel 3 S0 AFTaal
T H WH-H1 Al 998 7 HEHa o |

46.  Question figure/ 551 ST

N/

Answer figures/ 3T mﬁ

<YLV

@) ®_ ©

(D)

SPACE FOR ROUGH WORK / T% &4 & o 5e
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47.  Question figure/ W AFT

7

Answer figures/ 3T STHaAl

FOR VISUALLY HANDICAPPED/
CEREBRAL PALSY CANDIDATES ONLY

e ghzaie/AEw Uedt IHGaN & o

39. Ina code CORNER is written as CSVRIV. How can
CENTRAL is written in that code ?

T ET2 5 CORNER F1 GSVRIV ferar smn & 1 35

¥ Az 2 F1s 1 CENTRAL F1 %4 feran smom ?
@ @ @ @ (A) GIRXVEP (B) GJRYVEP
™ ® © D) () GNFJKER (D) DFOUSBM
—
Directions : In question numbers 48 to 50, identify the | 40.  Inacertain code, the following numbers are coded
diagram that best represents the relationship among classes in a certain way by assigning signs -
given below : 3 T = 3+ v A
T : Uw | 48 1 50§, 97 AE AU S A= a0 T 1 2 3 4 . @D s
=l & 419 Ty R e w E Which numbercan be decoded from the following ?
48. Tigers, Lions, Animals? g =14
ar, 7, SA 2 faredt 7= # Ffetas Hensi #1 wF v @ A
@OOOO@ S + v A x 9
\ O w2 3 4 5 6 7 8

Languages, English and Kannada ?

QD

%OOO

(A)

(B)

(©)

@

(A) (B) (©) (1) : SE L T T
RS freifatmm 3 fam gen 1 itz S = a0
22
49. Professors, Researchers, Scientists ? "
Xv—Il+
ST, g, S 2 . Al s
(A) 523,74 (B) 7.3.3,.2.4
@ O C@ © 3,7.5.4,2 (D) 4,2,3.5.7
@ 11.  The average age of 7 employees in a department is
) (B) © D) 40 years. One member of 55 years seeks voluntary
- retirement and a new employee of 27 years joins.

What is the average age in the department now ?
fopd) favm o 7 =il S ofma 5 40 90 #)
5591 %1 U "2 Fi=ow dal fgfa & S R 3
277 1 U T A A1 AW F @, 74 Eem
(A) 36

©) 38

B) 37
) 35

GJ-2015/Page7
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42, "X and Y’ start walking in the opposite directions

from the starting point and covers 4 miles each.
There after X’ turns left and walks for 3 miles and
Y turns leftand walks 3 miles. What is the distance
between them now.

X 3 Y Wi Tam | faw fewnst § wom 1w
0 € 3 WSHF 4T w1 9 AW B hE
TS XA qZHL 3 il Ferl § S Y A g2
3 TS WeT €| 9 I ard fahadt gl @ 7

(B) 10 miles/™id
(D) 8 miles/™ie

(A) 16 miles/HTA
{Q 14 miles/¥ie

Directions: [f you start running froma point towards North
and after covering 4 km you tum to your left and run 5 km
and then again turn to your left and run 5 km and then
tumn to leftagainand run another 6 km and before finishing
you take another left turn and run 1 km, then answer the
following question based on this information.

TEer : = 319 U 9 G S S AR A yE FE € A
+ T30, 3 T T I F 9 = g2 W E SR 5 e
@A 1 3 TR & A e 5 e S ¥ s aa T 3
A qE F 30 6 TR Sea § A S i F9 4 s am
UF AW 30 A e | w0 S €6 wm e s amw

Y FeiciiEd 999 1 S e
43.  After taking the second tumn, in which direction will
vou be moving ?
(A) West (B) North
(C) South (D) East
THUHIE ©1 % 91g A fea fewm ° 1 2
(A) "iT=m (B) W
(© = O w
44.  Select the related word from among the given
alternatives,

fau 7 famedl §f | Faiag e w1 999 Fifaw)
EMIT-TIME::EDIT:?
(A) DIET
(Q DATE

(B) HIDE
D) TIDE

Directions : In question numbers 45 and 46 find the odd
number/word from the given alternatives.

9T - W HE 45 A 46 W, fau U famed 7§ faun
Tl /9 g0
45. 36,63, 108, 45, 21

(A) 108 (B) 45
© 21 D) 63
46.  (A) Woodruff (B) Wood pecker
(©) Wood pigeon (D) Woodcock
(A) 95T (B) F3wrga
(© Simelt Fem (D) T
47.  Find the missing number of the series.
@l 1 A HEA [ FIA |
121,169, 289,361,529, 7 .
(A) 625  (B) 576 (D) 961

48.  Which one set of letters when sequentially placed at
the gaps in the given letter series shall complete it ?

ARl 1 HH- T G T W G a9 4 4
TE &R *TEE T w0 2
aa_abbb_ccccd_ddcce bb_ba

(A) abdbc (B) abdcb

(©) abcad (D) abeda

Directions : In question numbers 49 and 50, select the
missing number from the given responses.

Freon : v Wen 49 3w 50 9 fou 0 fawedi F @ qa s

A Hifsg |
49.
/\
? 9
121 25
L4
(A) 157 ®) 92
(D) 208
0. 14 9 4
12 7 2
10 5 0
16 T ?
(A) 6 ®) 3 Q 7 ) 9

SPACE FOR ROUGH WORK / 7% @14 & fora =
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PART - B / 971 - @&
GENERAL AWARENESS / |Ia= SRl

51.  Which one of the following is an indigenously built
light combataircraft of India ?

(A) Vikrant (B) Tejas ¥~
(O Arjun (D) Akash
Erorfiad 7 A A1 T S W W W
g faam 8 7
(A) TasRid (B) @=H
Q = (D) A=F
52.  Match the following:
I ||

(a) Chlorophyll
(b) Nostoc

(¢) Transpiration
(d) Rustof wheat

(i) Plant disease

(ii) Photosynthetic pigment
(iif) Diazotroph

(iv) Lossof water from plant

surface
Taefataa &1 faar Fhac -
1 n
(a) FERIEA () w9 A
) F=H (i) e HerY e
(¢ o (iii) ZETHLT
(d) T fHg (iv) WIET HAT | T A

@ © © @
(A) (i) (iv) (@) ()
(B (i) (i) (iv) &) —
© () (i) () ()
o) (i) Gv) (i) @
5. A n can jump higher on the moon’s surface
: than on the earth because :
(A) The moon’s surface is rough
(B) Themoon has no atmosphere
_ (O The acceleration due to gravity in moon is
smaller than that on the earth
(D) Moon is cooler than earth
=it Gl 1 HaE # qadl § Sem F1 wHe W
ifir S i 3T Al € 2
(A) T2 I GE GiEd el el
(B) H1 I T ATAHES 6wl |
(Q) Sl T 3 i e e e
FH Tl
(D) == Y § ST 25 F T
54.  One of the regions that receives rainfall from the
north-easterly monsoenis -
(A) Kerala {B) West Bengal &
(C) Tamil Nadu (D) Assam —
Tt gl WA A R wEw A a6 2
(A) F (B) TiFeHl e
(€ THEHATS (D)

GJ-2015/ Page9

55.  Who of the following became a member of the “Din-
i-llahi ?
(A) Todarmal (B) Tansen
« (C) Raja Birbal (D) Raja Man Singh
T} FH ‘GH-3-300e " 1 wTE 2

(A) T (B) TEEA
(Q T ETEE (D) T WHEE

56.  Which of the following is not correct about Mahatma
Gandhi ?

(A) Gandhi advocated complete separation of
politics from religion

(B) Gandhi believed in non-violence

() Gandhi believed in the sanctity of means

_ (D) Gandhi supported close relation between

religion and politics

e T & | 7 freetEd 1 9 o 96 T

(A el 3 T F1 9 @ 0 0E el @i
eHTerd 11

(B) s 2 # fawad F@ 90

() et WAl 1 i § favE F@ 41

(D) i A HE it Yt & | Fwe 449 W

THET AT |
57.  Who was the Nawab of Bengal during “Battle of
Plassey” ?
— (A) Siraj-ud-duala (B) MirJafar
(©) Mir Qasim (D) None of these

T & qS A AT A HE 9

(A) ferrsgien (B) W SR
(©) R (D) T & =1 Tl

58.  Which one of the following is the infective stage of
the malarial parasite ?

~ (A) trophozoite (B) sporoblast

(© schizozoite (D) sporozoite
A e W AetEd § 4 SE-u e
HeTE © 2
() EET W)
(©) IEAEEE (D) TR

59.  Inmountainous areasanatural cause forroad blocks
is often:

(A) traffic congestion

(B) road repairs and construction
—~ (© land slides

(D) treefelling

it 45 3 T2E1 F q96G oH S WS B0
T T el ' 2

(A) T 1 WSS (B) TS HOEG AR I
© “EEE (D) T 1 I



60,

61.

62.

65.

Biodiversity is also known as -

(A) Between habitat diversity -

(B) Ecosystem diversity

(©) Global diversity

(D) Within habitat diversity /

i Tafean 1 o =9 4 off s w1 22
(A) 79 i fafaam 5 =19

(B) Tritiefaat du faigym

() afvas fafaum

(D) 9 wrHE fafaya F s

Which one of these animals is jawless ?

(A) Myxine (B) Sphyrna
(©) Trygon (D) Shark
= Sl s = s e 2
() Freegs ®) fewi
(@ 2z (D) ¥

Headquarters of European Union (EU) is situated
ir. -

(A) Paris (France)

(B) Milan (Italy)

(©) Munich (Germany)
(D) Brussels (Belgium) «

A HE F T w2
(A) TTE (wiE) B) e (32e)
© == () o) T (Ifesm)

The substrate of photorespiration is :
(A) Glycolate (B) Pyruvicacid

(©) Fructose (D) Glucose
T Y I G a9 E 2

(A) THAEERRIE (B) wraEas s
© wFEE (D) T

What is the speciality of Windows-NT'?

(A) Supports Multi-processing

(B) Supports LAN and WAN

(O Supports Batch Processing

(D) Supports Real-time Processing

EERLNT #t 7 fagma 22

(A) =1 UHEET %1 w9E w5 e

(B) & (LAN) 3 35 (WAN) F1 992 51t &1
(© 3= TR 1 90 T 8

(D) T4 278 REE B W e 3

The mercury and sodium street lamps light up
because of :

(A) Electron absorption

(B) Atomic absorption

(C) Atomic emission

(D) Electron emission ~

w1 S0 Aifeam e 7 fams o v s 20

(A) sﬁaghmmm (B) 'r{mgamm
(©) T S (D) AT I

GI-2015/ Page10)

66.

67.

69.

70.

Competition for food, light and space is most severe

in:

(A) distantly related specics growing in the same
habitats

(B) distantly related species growing in different
habitats

(©) closely related species growing in the same area
or in the same niche

(D) closely related species growing in different
habitats

WIS, W S T w5 a5 w mas i

R E7

(A) T ¥ = W 32 3 Al gral wates e

(B) Fafvr= =ami 4 921 21 et graw Hatag warmi

(© vF & &= 3 Wi § Y21 3 A free gatg
waifaai

(D) Taf¥=1 =i § 21 23 areit e et et

Which of the following country has the longest
overland tunnel ?

(A) Germany ) France

(O Spain ) Switzerland
ﬁvii‘af'@aﬁﬂﬁ!xi’aﬁmaaimgmi?
(A) =1 (B) Wiy

(© = (D) TEemws

Which one of the following is not a feature of
Indifference curves ?
(A) They are parallel to each other
(B) They slope downwards to the right
(©) They donot intersect each other
(D) They are concave to each other
A A F1 SAHT F5h H e T 2
(A) 3 T 3 F i 70 €
(B) ATE INFE I 5
(O =79 UF T8 F MY q- 949 751 2ai
(D) 3 TF TH! F F5aa a9 &
The difference in the value of visible exports and
visible imports is called -
A) Balance of Items
B) Balance of Trade

(O Balance of Account
(D) Balance of Payments_ s
¥4 Frafa 3 g7 AW F e ¥ sat =1 39 w2
€2
(A) 9% ¥m (B) =R 3™
(© @t (D) TaH Hge
Ecosystem consists of -
A) A Ec:pulalion and its non-living element
(B) A bioticcommunity
(©) A biotic community and its non-living elements
(D) Population

| G e et = 5 2
(A) STHIET 3R 355 fetg g2a
(B) i o )
(O SitE Bem 2 0% feitg 9o
(D) 3ErE



74.

76.

Kautilva's “ Arthasastra” mamly deals with :
(A) social aspects (B) economic doctrines -
(&) milj(ary aspects (D) political state craft
Fifzea & ' i 1 Had Te: T 12
(A) FEIEFI%e (B) W4 96

(O F3 9] (D) TTEATTE IRTTRE
Rotaton of crops is essential -

(A) Fordecreasing the quantity of proleins
(B) Forgetting different Kinds of crops

(C) Forincreasing fertility of the soil

(D) Forincreasing the quantity of minerals
w1 A A A R 2

(A) SIEHT %1 5 FE 3

(B) o= W =1 HEe o

(O T2 Fi ZETa F F@n

(D) ST 1 W qe

The purpose of choke in a fluorescent lamp s -
(A) toincrease the current flow

(B) todecrease the voltage momentarily

(C) todecrease the resistance

|D)- to decrcasc_lhe current flow

W2 9§ H1a F1 WEE 76 2

(A) FiZ F TEE FI 92

(B) Frwes I M0 F51 HeA

() Wiaziteal =1 &9 Ha

(D) 2 & Ya® &1 FH F4

The author of the book “Zest for life” is :

(A) HG Walls (B) Emile Zola
(C) Hask Twain (D) Virginia Wolf

Y i R TEE & A P E 2
(A) WS, Jiey (B) uiHe el
(© W Z54 (D) F=I1 g%
Afla toxins are produced by -

(A) Fungi (B) “Bacteria

(© Viruses (D) Algae

TEe a7 § 2

(A) Fa& (B) S

(© feumy (D) Hamw

The apparent weight of a man in a lift is less than
the real weight when -

(A) the lift 15 going down with an acceleration

(B) the lift is going up with uniform speed

(O the liftis going down with uniform speed

(D) the lift is going up with an acceleration

% 9 999 1 U4 959 araiad a9 3 F9 &9
o &7

(A) 39 ferez =it A 54 = 7= A

(B) ¥4 fore aneE nfd 3 3w = @A)

() =4 ferz gaF 71fd A 39 @01 @A)

(D) 74 R 31 7 35 = A

GJ-2015/Pagell

77.

78.

79.

— ©

Match the following lists and select the correct
answer from codes given below :
List1 List 11
Crops Firstin the World
Rice (i) Brazil
Maize (i) Malaysia
() Rubber (iii) China
(d) Sugarcane (iv) USA
Trefefaa arfersrs &1 sy aqr foy 73 fased §
7 fades g -
BUECaS|
THHA
(a) =Ec
(b) e
(© =3 (iii) =T
(d) "= (iv) HYH 10 AFTH
@ (& (o (d)
(A) (i) (iv) (@) @
(B) (iv) (i) () (i)
© (i) () () (v)
D) () (i) (w) (i)
The National Police Academy is located at :
— (A) Hyderabad (B) AbuRoad
() Dehradun (D) Bangaluru
Tt qfers A wa g 37
(A) E=TERE (B) G T
(© Fwe (D) e

Rambows are produced when sunlight :

(A) Incident on rain drops hanging in the
atmosphere is dispersed after suffering
reflection

Incident on rain drops hanging in the
atmosphere is dispersed after suffering
refraction

Incident on rain drops hanging in the
atmosphere is dispersed after suffering
refraction and internal reflection

(D) None of the above statements is correct

(@)
(b)

GlUEEas!
HARH UgH
() @i
(i) SET9El

(B)

TRUIT 04 9d © 94 §4 B TH

(A) arHea § FeEr 39 981 W e 3w ae
1 fa=ivi #1 = §1

(B) THEA H awi-9a1 W (0 | S9aad @i W
el 51 = & |

(© arpize | aui-481 v a9 Ayaed @in d@ans
WE F5 W R S

(D) FTdaa 5 | w0 5T 9T 61 A0 6 |



81.

82,

83.

85.

The soft silvery metailic element which ionizes
easily when heated or exposed to light and is present
inatomic clocks 1s

(A) califormium (B) cesium

(O) calcium (D) cerium

il g, el wifearss a0 1 50 7 41w e
T W Heaal 4§ AGHFE @ S S, G e ?

(A) Ffewrm B) Hifam
© Ty (D) =Hiftay

Addition of excessive amounts of heal in a lake is
referred toas:

(A) Green House Effect  (B) Thermal pollution
(O) Refrigerationeffect (D) Heat bloom

i § U Aafes T F A 9 9 5
22

(A) T B39 e
(@S GERE

(B) <9 9gym

(D) S =E

When income increases, consumption also
increases

(A) inthe same proporticn

(B) inalower proportion

(©) inahigher proportion

(D) none of the above -

4 3 Fed] & 9 =Ia 6 S § 9 s a2
(A) TF NG | (B) =8 #{Um o

(© = s § (D) 399 4 8 =5 54
What according to communism is the chief enemy
of the society 7

(A) Religion

(Q Private property

(B) Surplus value
(D) Capitaiist class

AER F ST AU T 5 B 2 7
(A) = {B) =0 7
(© =it gufa (D) YsrarEt a7

The only AICC session Candhiji presided was held

at:
(A) Belgaum (B) Calcutta
(O Madras (D) Lahore —

TS T STAYE H uEEE U w o sirEee
Fal Aritfar fwan v a2

(A) T (B) FIEEE Q) "EE (D) FRE
The green colour seen in firework displays is due to
the chloride sall of

(A) Calcium (B) Barium -~
Q) Sodium (D} Strontium

wiavEE! § w7 7 f5us s 5 n F w5
feaEzm 22
(A) Fiewray
(© HiEm

(B =fom
D) =f=m

GJ-2015/ Pagel2

86.

87.

89.

What is Amnesty International 7

(A) An Environment Protection Organisation

(B} A Peace Movement

Q) An Animal Rights Protection Organisation
Dy A Hun‘mn Rights Organisation

T SeeEe R 2

(A} TETET0 HTE Hoya

(B) s SAfde

(Q WY ATUFR Fam H1gq

(D) HHEnaTHR F7e

The first Sultan of Defhi to issue regular currency
and declare Dethi as the capital of his empire was -
(A) Balban (B) [Iltutmush

(©) Qutbuddin Aibak (D) Alam Shah
Frafya w1 =i 73 aten @ Teet =1 w199 Fwe
q1?

(A) AeraT

(©) FIREH =T

In the case of deadlock between the two houses of
the parliament, the joint sitting is presided over by
the:
(A) Speaker of Lok Sabha
(B) Vice President
(©) The senior most member of Lok Sabha
(D) l’rcs!d_ent
Hag F ZE " F e i w5 R § g
ARSI 1 serEm #9 wam 22
(A) & B9 =g (B) 39 m=zufs
(© @=aw F afreay 5o (D) U=
The Thirteenth Pravas: Bhartiya Divas was held on
8 and 9t Jan 2015 at -
(A) Gandhinagar (B) Indore
(O) Bangaluru (D) New Delhi
8 3T 9 a1, 2015 F1 TTEA1 Fard] Wt f2aa Fat
srIfora fabem 7 2
(B) &R

(A) T
O Ange O) T et

The remedies to soil erosion are :

(@) Contour bunding

(b) Regulation of land use

(¢) Cuttingof trees

(d) Allowing grazing of animals

Y31 AYEA 419 & A0 ¢ -

(a) #E A3 w A AE

(b) -=9Er ¥ fafeE

(©) F&i F =2

(d) IE F E F B2 A

(A) {a).(c) (8) (b)(c)
(€) (), (d) (D) (a), (b)

(B) Fwaqd
(D) e wE



91.

93.

Which of the following comes under the jurisdiction
of both the High Courts and the Supreme Courl ?

(A) Dispute between states interse
(B) Protection of Fundamental Rights

(O Protection against the Violation of the
Constitution

(D) Disputes between Centre and the States
TrfafEd § 9 #0139 =9Eed 3 3=a0 aaed
2T F1 ATIHI & A5 21 & 2

(A) T & °re e faam

() & Al 1 Hwm

(O HEYH & Stoigd & faeg Hiam

(D) ¥z 3 o4l & = faae

Catalytic converters are generally made from:

(A) Hydrogen (B) Carbon

(O Transition metals (D) Alkaline metals
I Fraed gl fHad e o €2

(A) TEEH (B) F

(Q Hsia ¥ig (D) =T A

From the national point of view, which of the
following indicates Micro Approach ?

(A) Percapita income in India

(B) Inflation in India

(© Study of sales of TISCO

(D) Educated unemploymentin India

g giesm 4§, Fefeiaa § 8 ¥ gen ofesm
1 g9 & 2

(A) ¥rE ¥ wfa =afaa sma

(B) W H g1 THitq

(© Tz =t fami 1 Foa

(D) wrE ¥ forfera Sl

Movement of people from avillage to a small town
and later to a city is known as:

(A) intra-state migration -
(B) inter-state migration
(O) step-wise migration —

(D) forced migration

TMiE A Bl F SR A1 F 5 GF @il 9w
FEd 62

(A) FHau-T=4 5919
(O =ER 941y

{B) Haumd yarg
(D) w=gE qaE

GJ-2015/Pagel3

96.

98.

100.

The Indian constitution provides the country with
three categories of Givil Services, namely

(A) All India, Central and State Services

(B) Administrative, Police and Railway Services
(©) Administrative, Police and Foreign Services —
(D) Administrative, Police and Revenue Services
YTty wigw 3 fafas Farst $1 F-4 97 3t
EARICRICRETIRC i

(A) @ITE® YA, F ud 79 Fan

(B) W, Tiod & T Jan

() WeTE, qiaa A EE dan

(D) ST, e SR T a9

Jaspal Rana is the name associated with which of

the following games ?
(A) Shooting (B) Archery
{O) WeightLifting (D) Boxing

S T aEa § 4 68 Ee 3 Hag am E?
(A) Fremarsi (B) =S

(© e (D) TR

In a Database Management System (DBMS), the
content and the location of the data is defined by

the.

(A) sequencedata  (B) mult dimensional data

(€) metadata (D) subdata

FEEH Washe 952 (DBMS) H, 2121 &1 3t 3
fresfar formrs g witsnivg =i <7l & 2

(A) HEEE == (B) TE! SANYHSG 3=
© Fazm (D) H4 z7e

Man Booker Prize for 2014 was awarded to:

(A) Amnta Pritam (B) Shashi Tharoor

() lLech Walesa (D) Richard Flanagan —
2014 @1 79 g1 e | Tl e w2

(A) 2rygal Wias (B) wf a5t

(© w= e (D) =g warm

Which one of the following refers to the white salt
which covers the land in some areas during dry

season ? =

(A) eg () usar  (Q reh” (D) reg
FreafaiEa 4 3 0% 9aY 9he 9% 4 2 Sl
T & SR %5 431 9 1 F Seiied ST s 8 7
@ B OT"W M
“Wall Street” is the name of the :

(A) Stock exchange of Newyork ~~

(B) Indian township in Washington

(©) Super marketin Mumbai

(D) Stock exchange of Kolkata

G IR CARE 2 E R )

(A) =T &1 =6 U

(B) =mwea H 3TeHa At

(© T T W e

(D) FIcTTal F1 =20% T d .



101.

102.

103.

104.

PART - C / 9FT - 71
QUANTITATIVE APTITUDE / UftamuTedes 3ifasia

A conical iron piece having diameter 28 cm and
height 30 cm s totally immersed into the water of a
cvlindrical vessel, resulting in the rise of water level
by 6.4cm. The diameter, in cm, of the vessel is:
28 F AL A A1 30 4.5 398 96 UF Ueaw ae
FTHe 1 U AAER TE F 5 o quiadl gal i
Il 2, fFa%  giiomm=EEy 99 §1 @
6.4 711 T o £ | 9rF F1 o=, Sl 9 e e ?
35
A =

®) 35

© 32 D) 35

The area of the triangle formed by the graphs of the
equations x=4, y=3 and 3x +4y=121is:

x=4, y=3 3 3x+4y=12 THFN F TE d 74
s =1 9% 7

(A) 4sq unit/aN3FE  (B) 6sq. unit/T7 3FE
(© 12sq unit/FT3FE (D) 3 sq. unit/F1 356

If two numbers are in the ratio 2 - 3 and the ratio
becomes 3 : 4 when 8 is added to both the numbers,
then the sum of the two numbersis:

21 HEl 1 AT 2 -3 F 30 2 5enst 0 89S
T 3TE 3 : 4 T G T, 9 39 o G &1 3
t:

(A) 40

(B) 80 © 100 (D) 10

The percentage of metals in a mine of lead ore is

3
60%. Now the percentage of silver is z"/n of metals

and the rest is lead. If the mass of ore extracted from
this mine is 8000 kg, the mass (in kg) of lead
is:

UF HHI ST i @ A S B gagadl 60% 1
mu@ﬁfﬁﬁaa‘ruﬁm %%’s'afm‘mzﬂm%l
afz 20 WA F FTF 0 SFEE 1 ToANH
8000 & & & =/ =1 zoamm (. W) § -

(A) 4762 (B) 4763 (O) 4764 (D) 4761

105.

106.

107.

108.

O is the incentre of APOR and if ZQPR=50", then
the measure of ZQOR is:

APQR & 3ig:%g O % 3z ZQPR=30"#1, ZQOR T
o

(A) 1307 (B) 1257 (© 115° (D) 1007

If 4a — :-:- + 3 =0, then the value of .13 - — 43

1
a>
1S:

ﬂfﬁ-‘:a-%-t-:%:o%,ﬁ ad --l-+3’emrm%:

=
w

L
O) 16

A

3
™G ®

A dealer buys an article listed at ¥ 100 and gets
successive discounts of 10% and 20%. He spends
10% of the cost price on transportation. At what
price should he sell the article to earn a profit of
15% ?

um faehal T 1001 FHiaa HiHd At a5 F1 =@ diEd
% afty 39 W IAIEE 10% 1 20% ) P2 G Fa 2
9% @A Fd F1 10% FAR T T9 Hal 6
15% 1 @1 Wa &34 & fog 39 98 aq Fa o
1 =fen ?
(A) T 9200

(©) T91.08

(B) T91.20
() T90.80

If soch + tan® = 2 + J5 , then the value of sinfl is
(0° < B < 907)

Afgsecd + tand =2+ J5 Z, dl sind F1 I3
#:(0° < 0= 90°)

= V3

-

(©

Y| -

1
A 7

SPACE FOR ROUGH WORK / 1% &1 & fvid s7e
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109. Thesimplified value of

110.

111,

"“w:#]l“ “H'#]- i ,..f%“][""":f.a]}
g e et

! e e
e R

100 20

® 7 ©?2 ® o1

90
@A Tor

If x2+y2+2z2=2(x+z—1), then the value of
L+ +2 willbe:

TR+ P+ 2=2a - ) E AL+ P+ 2T AR
71 7 ?
(A) 2 B) 0

© -1 O) 1

A and B together can do a piece of work in 30 days.
B and C together can do it in 20 days. A starts the
work and works on it for 5 days, then B takes up
and works for 15 days. Finally C finishes the work
in 18 days. The number of days in which C alone
can do the work when doing it separately is :

Aznpgfaa wd sd S0 EE A ST Fd 518
IFMCTHTF I 0T T T T5d &1 A FH My
FmasfEivs sd st A s el T &6 o
FamisfEAiasr s T e Sa g CcIW 18T d
JO &l © | C e A FA #2d 50 90 H F
P fEd s gmms?

(A) 24 days/fe7 (B) 120 days/fea

Q) 60 days/ﬁl"l (D) 40 days/fea

1

113.

114.

115.

116.

A circular swimming pool is surrounded by a
concrete wall 4 m wide. If the area of the concrete

11
wall surrounding the pool is 35 of that of the pool,
then the radius (in m) of the pool is:
T Iqe At qd 4 H. 9121 Fenie #1 ean 3 f
70§ A §E F A A @i FH GEE B
o o 11 o
S A & S F E%ﬁrv{aﬁﬁm(m
) foai &2
(A) 16 (B) 20 © 30 D) 8
If x=2=225 and y=226 then 2%+ 1P+ =~ 3xyz
takes the value:
qlg x=2=225 AR y=226%, A > +1P+2—3xz
FEAE:
(A) 674  (B) 576 (O 676 (D) 765

The internal bisectors of the #B and Z#C of the AABC,
intersect at Q. If ZA=100° then the measure of
ZBOCis:

AABC & /B 3l £C 3 3ais e O W Hig=e
a1 3fg LZA=100°%, @ £BOCHT AN 2 :

(A) 120 (B) 130° O 140° (D) 110°

A dealer sold a bicycle at a profit of 10%. Had he
bought the bicycle at 10% less price and sold itata

price T 60 more, he would have gained 25%. The
cost price of the bicycle was:

U fepshall 3 U AR 10% F &9 WEAw) Ak 9w
BT 10% F9 F19a W E{I=T 31 38 T 60 3w
A= Tl 3 25% F W Fal AR = e
e 41

(A) T 2200 (B) 2400

(C) 2600 (D) T 2000

Average weightof 3men A, B, Cis 84 kg. Another
man D joins the group and the average now becomes
80 kg. If another man E whose weight is 3 kg more

than that of D replaces A then the average weight of
B, C, D and E becomes 79kg. The weight of A (inkg)

15

A, B, C o =afeaal =1 sidd 9o 84 fem 31 =
=1 FAfR D39 9 H w0 o 9 6 S 3E S
80 fe. . @ s 21 3fe ww I =fa E e
g DA3fFEm afusd AF MR RanImE
B,C,D, E®l e 9541 79 5w A 5@ 21 A =1
g7 (f&m. 9) Fan 272
(A) 72 ®) 75

© 80 D) 70

SPACE FOR ROUGH WORK / 7% &1 & & g
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117.

118.

119.

120.

121.

1 2
If x + — = 1" then the value of 5 is:
X X —x+2
Y .

1 L 2 ;
gfex+—=1g @ 5 - HUAE:
x b +2

2

(A) 4 B 1 © 2 ®) 3

If tanA + cotA = 2, then the value of tan'"A + cot!®A
is -

a2 tanA +cotA=2 %, T tan'®A + cot!?A &1 9H
%:

@ 21 (B 4 © 1 D) 2

A librarian purchased 50 story-books for his library.
But he saw that he could get 14 more books by
spending ¥ 76 more and the average price per book

would be reduced by T 1. The average price (in ) of
each book he bought, was:

Uw SRANEA 3 A9 FaEea 19w 50 Ferl Bl
vaE mwe| g smsmfwIze i ad 3 3
I 14 T o foe gadl 41 3R via s 2w
Hid W1 T 1 FH & @ S5 G Gl T Vos
I i 3ja Sma (T H) Ff?

(A) 15 ® 20 © 25 D) 10

If the discount of 10% is given on the marked price
of a radio, the gain is 20% . If the discount is
increased to 20%, the gainis:

4tz s 54l & JifFd 5e9 W 10% T G2 &1 5l &
@ =Y 20% e § 1 Afe g2 TG FE 20% F S =i
FAER

So L% s
@) 5% B 75% (Q 6 % (@) 6%

Two pipes A and B can fill a tank with water in
30 minutes and 45 minutes respectively. The water
pipe C can empty the tank in 36 minutes. First
Aand B are opened. After 12minutes Cis opened.
Total time (in minutes) in which the tank will be
filled upis:

A UEY A 3T BUE ZF § wa: 30 e ot as o
T el W Hwd 8 | e WEY C 39 I F 36T F
A T THA ¢ | T A #1 B Fl Hlen = @
12 Tz =g C &1 @ien 5a1 21 2% ol (had 994
(a1 /) w2

(A) 24 B) 36

© 30 D) 12

122

123.

124,

125.

Two towers A and B have lengths 45 mand 15 m
respectively. The angle of elevation from the bottom
of the B tower to the top of the A toweris 60°. If the
angle of elevation from the bottom of A tower to the
top of the B tower is 8, then value of sinf is -

A @1 B 31 5TFRI S 9EE HA9: 4511, 3 159 )
AR B a6 3 HAE A & 714 1 39599 10 60° 21
g HHAR A F 96 4 5HEE B 9 &1 5131 T 0 T,
Al sinb &1 HH 2 :

b
=

1 2 1
W HE @ ©OF ©;

The speed of a boat in still water is 6 km/hrand the
speed of the stream s 1.5 km/hr. A manrowstoa
place at a distance of 22.5 km and comes back to the
starting point. The total time taken by him is:

(A) 8 hours (B) 10 hours

(© 6hours10minutes (D) 4hours20minutes
TS i Fi 7597 5@ o g 6 .07 96 92§ 5N
g w1 e 1.5 feE ufa =er 81 um =fa
225 T, 1. =1 331 W UF T G2 161 ] S 37 o
T § 3 S hg 9 999 I B 35F 5
feran w1 g 59 R
(A) 8§52

(© 6w 10

B 105
(D) 492207072

A shopkeeper allows a discount of 10% on the
marked price of a camera. Marked price of the
camera, which costs him ¥ 600, to make a profit of
20% should be :

U GG U S & Afhd §od W 10% F 32 2l
T HHU T EE 9249 T 600 T @ 20% T @ W
T & foru 391 Hiwa g9 faran 29 =ifee 2

(Ay T 700 (B) T750

(© T 800 D) 2 650

The value of
€0824° + c0855° + c0s125°% + 0s204% + c0s300° is
equalto:
cos24® + cosd5” + cos1257 + cos 204" + cos3007 =1 5
o a8 2

1
&)=

|
w5 @2

SPACE FOR ROUGH WORK / T% T4 & o g g
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126.

127.

128.

129.

130.

. prism be

area (APOQR)
Given that AABC -~ APQR. If m

56
a1

and PR=12 c¢m, then ACis equal to:

L] A% (APQR) _
S A%d (AABC)
3R PR=129.1. 2, 9t AC e auar &2

(A) 16cm/d.51. ®B) 1242 cm /AL
(© 15.75 cm/H 1. (D) 155cm/4.Hi.

If a+b-c=14 then the
202 +2c%% + 2a’b?—at-bi-ctis :
Afatb-c=14% @

26°2 +2% + 2% —at -~ b - A WA T :

A 7 (B) 14 © 28 (D) 0
ABCD is a cyclic quadrilateral. Diagonals AC and

BD meetsatP. If ZAPB=110Fand ZCBD =30 then
ZADB measures :

ABCD U% 4 =y 21 faavi Ac 3 BD, Pm
fioem €1 afe ZAPB=110° 3R £CBD=30°%, @
ZADBHIHU T :

(A) 35 ® 700 (©Q 80° (D) 30°
If the area of the base, height and volume of a right

3J3 2
2

WA E AABC~APQRE A8 50 o 441

value of

p? cm?,100v3 em, 7200 cm?

respectively, then the value of p will be:
Iz U o9 T F AR F1 $9%, 391 39 JEa

i _3*2/51,92 A512,10043 3., 7200 A3

i p =1 UF B :

3
w; ®4+ ©Q2 ©OG
sech +tand _ 51 B a2
lfm =2 m.mmuwvalueofsmﬂm.
secl + tanf _ _ 51 ¢
ﬂﬁm-zﬁﬁ.iﬂmneﬂmﬁz
39 91 65 35
WG ® g O3 O35

131.

132

133.

134.

135.

Ram deposited a certain sum of money ina company
at 12% per annum simple interest for 4 years and
deposited equal amount in fixed deposit in a bank
for5years at 15% per annum simple interest. If the
difference in the interest from two sources is T 1350
then the sum deposited in each case is -

4w e R I ° 129% Wi’ 5 9
HAEW4ad & Fu s s aw s 35 9
15% uﬁf—dé:mmaﬁwmﬁrmﬁ;aﬂ%

- — W e W

am%‘cﬁmum'a nrsrm's‘tus‘nfw%.

(A) T 4000 (B) T 35000

© Z 6500 (D) %3000

If A, Band C can complete a work in 6 days. If Acan
work twice faster than B and thrice fasler than C,

then the number of days C alone can complete the
workis:

ABARCUF A FefF A quatTF:a s aig A,
B T 751 A 3t A foph i @ w1 w2 Fwa
T, C 1hel 39 T S 1Ha fe4l G0 % g 8 7
(A) 22 days/fea (B) 33 days/f&A

(© 44 days/fea D) 11 days/fa

ABand CD are two parallel chords of a circle lying
on the oppaosite side of the centre and the distance
between them is 17 cm. The length of AB and CD

are 10 cm and 24 cm respectively. The radius (in
cm) of the circle is

AB 3 CD T 39 1 21 A0 91 € a1 $2 5
fawdia iR foua 2 3 55% 9 &1 5 1755 3
AB 3T CD =1 =i F49: 10 5.8 24 H 5 31
o %1 T (R ) 3 -

(A) 13 ®) 15 © 18 D) 9

O is the circumcentre of AABC. If ZBAC=85",
£ZBCA=75% the ZOACisequalto:

AABCHI 9iF= OF1 3% ZBAC=85, ZBCA=75°
2, @t LOAC fFas amar 77

(A) 50° (B) 60° © 70 D) 40°
If 1+ cos®f =3sind cosh, then the integral value of

cotBis:(0<0< ;]

AfE 1 4 cos20=3sin8 cosd 5, T cotd T TolIH1 93 7 :

(0<9<f‘-]
2

(A) 1 ®) 2 © 3 ©) 0

SPACE FOR ROUGH WORK / 7% &1 & o =g
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136.

137.

139.

140.

=

5

fxX=——"7FandV¥V= =T 33 then the value
J5 + 43 © S5=43

X~ Ay +y°

of o2 _xy_“yz
‘/5-\[5 > _\[§+J§

M= NIi—pgop b @
x'+ry+y2

5 5 HAAE
X oty

65 67 69 63
MNg B O O4

The value of 3(sin0 + cos*d) + 2(sin®0 + cos®) +
12 sin®fcos28 is

3(sin*8 + cos?h) + 2(sin®0 + cos®8) + 12sin’Bcos8 T
AR

(A) 5 (B) 2 Q3 O o

AC s a transverse common tangent o two circles
with centres Pand Q and radii 6 cm and 3 cm at the
points A and C respectively. If AC cuts PQ at the
point Band AB=8 cm then length of PQis :

ACTH 1 gl @l A9 39ars v @ # fas
Fz P Q¥ 3R g A & ¢ W f=an waw:
6 3. i3 H.Hl. ¥ 13fz ACTag B W rQ & FEm
T AN AB=8H.1. 91 PQ I e & -

(A) 13cm/H A (B) 10cm/H AL

(© 12em/EHL D) 15 cm/H A

Two alloys contain tin and iron in the ratioof 1: 2
and 2:3. If the twoalloys are mixed in the proportion

of 3: 4 respectively (by weight), the ratio of tin and
iron in the newly formed alloy is:

31 o el W foo o o e 1- 28023 %
Fwa | F1 afe <F g aqsi @l ww: 3.4 5
9 | (991 5W) e G st @ & =4

faz a7 fo7 3R o =1 o
(A) 13:22 (B) 10:21
© 12:23 D) 14:25
: 1
Ifx*+x=5,thenthevalueof (¥ +3)* 4 7 is:
(x+3)
T 2+ =51, (x +3)3 + . 5 FIAAE :
(x +3)
(A) 110 (B) 140 Q) 130 (D) 120

0324 x 0081 x 4624 |
1.5625 x 0.0289 x 729 x 64 | '

141. The value of \K

0.324 x 0.081 x 4.624
L5625 x 0.0289 x 72.9 x 64
(A) 24 (B) 24
(O 0.24 (D) 0.024
142. In AABC, D and E are two mid points of sides AB
and AC respectively. If ZBAC=40°and ZABC=65°,
then ZCEDis:
AABCH D 3REFHY: ¥ AB 31 ACF 31w Taig
€1 M2 LBAC=40" 3R LABC=65"%, T LCED #:
(A) 130°  (B) 125 (© 75° D) 105°
143. A trainleaves station A at 5 AM and reaches station
B at9 AM on the same day. Another train leaves
Station B at 7 AM and reaches station A at 10.30 AM

on the same day. The time at which the two trains
cross one another is :

Tk (oIl Yated 599 YA A B godl £ 3 34t
f&a yaie 999 2em B = 81 U 3= @
YEiEd 7 99 R29E B & 9ol ¥ AW 34 foq gEtd
10.30 = F29F A W SEadl § 9 feriedl v g

]mm%:

& A fore =9 T 2
(A) 8AM (B) 7.36 AM
(©) 7.56 AM D) 8.26 AM

The income of a state under different heads is given in the
following pie chart. Study the chart and answer the
questions 144 to 146 -

frferiaa U8 wié | fafv= 9l & ale, v e 5 9|
TR T | 9 T AT i 30 U 144 A 146 F 393 -

Custom duty
drr o
4 Market tax
Property tax |3|3| !%357.
Hmi 1
18%
Excise duty Income tax
IR Yeh AT
10% 35%

taxis:

144. The central angle of the sector representing income

AR T A6 FE T FAEY w0 -

(A) 135°

B 1260 (© 119°

SPACE FOR ROUGH WORK / 7% &4 & o g =g
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145. i the total income in a year be T 733 crores, then the

income (in T crores) from ‘Income tax’ and ‘Excise
duty’is:

afz UF 94 § Fe S I 733 HAS E Al A AN
‘TR AR A Al (FE )

(A) T 32985 (B) T 33145

(© T33150 D) T 329.80

146, If the income from market tax in a year be T 165

crores then the total income (in ¥ crores) from other
SOUTCes 15 :

7z e a1 1 9 F2 3 JAE 3165 FUs R Al J9
i | Fol A4 (FETA) B

(AY 335  (B) 345 (O 365 (D) 325

Study the following bar-diagram and answer the question
numbers 147 to 150.

Electricity units consumed by a family in two consecutive
years during July to November :

TreTetEa 9 - 240 &1 F9a9 &4 A1 9 147-150 &
IHEI

FEE 3 TEE F S0 wi9E A 4 U 91 G @
':ﬁlﬂi]"‘?’u»?fl&ﬁ"{ﬁi:

o
1 Months of 2012
2012 % A
L) -
» Manths of 2013
il 2013 5 58
— 300 -1
K =
c =
€ 7
Z e T
5B T
200+
100+
July August September October Nov cmher
E e sy e I
Months S
o
147.  In how many months in 2012, the consumption of

electric units was more than the average units
consumption in that year ?

2012 # farad wer # faset @1 40421 &1 @99 39
i § = g siEa 4 2 s di?

(a) 3 ) 4 (@ I o 2

148,

149.

Z(A) 400 units/ 352

The total units consumption in the year 2013 during
these 5 months, in respect of the same in the previous
year has been:

(A) decreased by 227%
(B) increased by 2.22%,
(Q found unaltered

(D) increased by 2.27%

T4 2013 % 0F 39 Ui WEE 0 qed 99 F 3
TEH F qFEE e g2 F1 @

(A) 2.27% %1 =9l (B) 2.22% =1 gz
(C) =7 yitEEs el (D) 2.27% F1 3iG

The maximum difference in the units consumption
between these two years has been found in the month
of :

24 &1 Al § g2 w1 @va § sAfvdan s = W
o e T ?
(A) August/ 3T (B) October/ 3/=at

(©) November/7@=1 ) July/FewE

The average electric consumption by the family
during these 5 months in 2013 is :

2013 H 33 9= TEE1 ® arE 34 viEn g fawet #t
28 |94 -

(B) 440 units/ g2

(©) 450 units /g2 (D) 470 units/ T2

SPACE FOR ROUGH WORK / 7% &1 & fod 7z

GJ-2015/Page19



144.

146.

147.

FOR VISUALLY HANDICAPPED/CEREBRAL PALSY CANDIDATES ONLY

Fae greana/Aee et SeiganRt & fou

148.

The sum of two unequal numbers is 40. 1f one of
them is increased by 5% and the other decreased by
5%, the numbers become equal. The difference of
the numbers is:

a1 HHH TS FTAm40 2 1 9fE 39 4 v 0 5%
131G AN gHI H 5% =1 =91 F1 A4 § 91 3 Fe=w
HAE B il € SEid § Hel 6
(B) 4
D) 2

(A) 3
< 6
If each interior angle of a regular polygon exceeds
its corresponding exterior angle by 90° then the
number of sides of the polygon is:

ate=R B 90° Hfew T 5 9203 F1 s #1 wen

(A) 7 (B) 6

©Q 5 D) 8

[t{a-b):(b—c)=1:1,a=b=c, then the value of
a_ ., _¢ . Yo

T, R Isequai to

FE (a-b):(b-c)=1:1.a=b=ct, dl
S+ — A A

8=D C=b = o e

1
(a) 2 B =
< 0 D) 1

A, Band Ctogether started a business. The amounts
invested by A and B are 2 : 3 whereas the ratio of
investments of Band Cis 4 :3. If (s share in the
profit is 2 18,000 then A’s share in the profitis (in3)
A, B 31 CH oot U= =rian 3y {5411 A 3s
I R R am 2 32 T pARCFHF FEu T
F9 4: 3% 3z =W T CF feem 218000 %
9l @M | A e (TH) &

(A) 16,000 (B) 12,000

(€ 8,000 (D) 24,000

149.

150.

A man covers first 112 km of his journey at
56 km/hr, next 105 km at 70 km/hr and then next
68 km in one hour. Then the average speed
(in km/hour) is:

UF =fe FT A & Yed 90 = 112 fE
56 Tw.#1. wfa =z1 %1 7fa 4 s 105 T4,
70 f.A. Wi 521 =1 0fa | 3iR f 5 o8 fml
UF W2 F 79 F41 & 6l rga nfa (. uid )
%:

(A) 47 -l—

3 (B) 45

1

© 60 @) 633

= 3
The product of two numbers is 15 16 and their

quotientis 3. The smaller numbers is

»
o HEAE F S ISE%m—m WITHE 3
HIESLE: R

da |

(A) 3 (B)

|z

15
© T (D)

The LCM of two numbers is 20 times their HCF and
the sum of their LCM and HCF is 2520. If one number
is 480, then another number will be -

2l FEH F TG THTES S HenE SEaTE
F1 20 T § AW IS FHAY GHUEE 7 GE0E
HHads =1 90 2520 81 9ie US 9@ 480 & &
ZE0 He w7 w2
(A) 900

(©) 600

(B) 300
(D) 1200

SPACE FOR ROUGH WORK / 7% &M & &4 =g
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PART -D
ENGLISH COMPREHENSION

Directions : In Questions No. 151 and 152, four words are
given in each question, out of which only one word is
correctly spelt. Find the correctly spelt word and mark
your answer in the Answer Sheet.

151. (A) merth

() connoisseur

(B) appretiate
(D) gruesom

152. (A) fortuitous

() comissioned

(B) haphazzard
(D) resurgense ¢

Directions : In Questions No. 153 to 155 out of the four
alternatives, choose the one which best expresses the
meaning of the given word and mark itin the Answer Sheet.

153. RESURGENCE

(A) renewal (B) reluctance

(© repletion (D) relocation
154. INGENUOUS

(A) crafty (B) candid

(O careless (D) creative
155. DAMP

(A) light (B) wet

(© clear (D) complicated

Directions : In questions No. 156 to 158, choose the word
opposite in meaning to the given word and mark it in the
Answer Sheet.

156. ZENITH

(A) shallow (B) nadir

(O low (D) bottom —
157. ARROGANT

(A) laughty (B) proud

(Q) selfish (D) modest
158. ECCENTRIC

(A) carefree (B) peculiar

(©) normal (D) unusual

GJ-2015/ Page21

Directions : In Questions No. 159 to 168, you have two
passages with 5 guestions following each passage . Read
the passages carel.}ully and choose the best answer to each
question out of the four alternatives and mark it by
blackening the appropriate oval | @] in the Answer Sheet.

PASSAGE-I (Questions No.159-163)

In September 2011, Hindustan Times did a study in Delhi
and reported that the number of malaria (and den;fvue) cases
at the time were actually thrice as many as revealed by the
city authorities. Earlier, in Mumbai, a municipal claim
that 145 people died due to malaria in 2010 was exposed a
lie after Praja, a city NGO, extracted figures from the
municipality itself. Following an RTI petition, Praja
revealed 1190 deaths. This seems to be a habit. A paperin
the leading UK medical journal The Lancet, published
following nationwide interviews undertaken by an
international team, reveals that the number of malarial
deaths all over India every vear may be as high as 205,000,
which is many times the World Health Organization’s
figure of about 15,000, of the National Vector Bormme Disease
Control Programme’s figure of just around 1000.
While The Lancet paper has been disputed, it is clear that
there must be gross under-reporting of malarial deaths.
Wouldn't that be one of the big reasons why malaria, which
is easily cured if properly treated after timely diagnosis,
continues to kill sa many Indians ?
159. The Hindustan Times found that the number of
malaria cases in 2011 was :
—~(A) three times the numbers revealed by the
authorities
(B) exactly as the numbers revealed by the
authorities
(O half the numbers revealed by the authorities
(D) twice than the numbers revealed by the
authorities
160. The findings of the Lancet were published after:
(A) proper verifications of the findings were done
__ (B) nationwide interviews were carried out
(C) the international team left India
(D) international reviews of the findings were done
161. What is “the habit” mentioned in the passage ?
(A) Exposing the authority’s incompetence
(B) Conducting studies and surveys in towns and
cities
(O Hiding the real figures of malaria cases «—
(D) Filing RTTs
162. The Lancetisa:
—(A) journal (B) magazine
(O medical book (D) newspaper
163. One of the big reasons for malarial deathis:
— (A) lack of proper treatment
(B) under - reporting of malarial deaths
(O) over-reporting of malarial deaths
(D) untimely diagnosis =



PASSAGE-1I (Question No.164-168)
The capitalist system does not foster healthy relations
among human beings. A few people own all the means of
production and others have to sell their labour under
conditions imposed upon them. The emphasis of
capitalism being on the supreme importance of material
wealth, the intensity of its appeal is to the acquisitive
tendency. It promotes worship of economic power with
little regard to the means employed for its acquisition and
the end that it serves. By its exploitation of human beings
to the limits of endurance its concentration is on the la
profit rather than maximum production. Thus the division
of human society is done on the basis of profit motive. All
this is injurious to human dignity. And when the harrowed
poor tum to the founders of religion for succour, they rather
offer a subtle defence for the established order. They
promise future happiness for present suffering. They
conjure up visions of paradise to soothe the suffering
majority and censure the revolt of the tortured men. The
system imposes injustice, the religion justifies it.
164. The passage indicates that the capitalist system is :
(A) ambitious (B) prosperous
— (O dehumanising (D) fair

165. Inacapitalist system of society each man wishes -
(A) to produce maximum wealth.
(B) tohave visions of paradise.
(O tosoothe the sufferings of other.
(D) toacquire maximum wealth. —

166. The established orderis supported by religion to:

(A) perpetuate the injustice imposed by the
capitalist system.

(B) balance the suffering of the poor with hopes of
future rewards.

(O help the tortured men to seek redress.

(D) alleviate the suffering of the poor in the
capitalist system.

167. Capitalism divides society into the two categories
of A

(A) exploiters and exploited people

(B) religious and irreligious people

(O) buyersand sellers

(D) working and non - working people

168. Ina capitalist system :

(A) theendsjustify the means. —

(B) the means endorsed by religion are strictly
followed.

(©) means which lead to exploitation are strictly
prohibited.

(D) the means justify the ends.

GJ-2015/Page22

Directions : In Questions No. 169 to 173, four alternatives
are given for the Idiom)\ Phrase underlined in the sentence.
Choose the alternative which best expresses the meaning
of the Idiom\ Phrase and mark it in the Answer Sheet.
169. ‘I am going to stay at home because | am feeling

under the weather today.”

(A) depressed (B) irritated

(©) unhappy (D) sick -

He and his neighbour are always at loggerheads.
(A) abusingeach other

(B) agreeoneverything

(C) aloof from each other

(D) disagreeing oneverything «~

Even in the middle of the fire he kept a level head
(A) was sensible (B) was crazy

(€) was selfcentred (D) was impulsive s

Everybody thought Asha and Ashok were a happy
couple, but it was all just make believe.

(A) pretence (B) reality

(©) hatred (D) treachery

The winning team decided to go for the jugular in

the last quarter of the match .

(A) Forfeit the match

(B) Attackall out

(©) Giveeasy opportunities to the opposite team
« (D) Givereserve playersa chance

Directions : In Questions No. 174 to 183, a sentence/a part

of the senlence is underlined. Below are given alternatives

to the underlined part at (A), (B), (5) which may improve

the sentence. Choose the correct alternative. In case no

improvement is needed your answer is (D). Mark vour

answer in the Answer Sheet.

174. He could not be able to think logically because of

his illness .

(A) cannotbe able (B) wasnotable =

(©) can be unable (D) Noimprovement

175. Theclimate of Shillong is somewhat like Kohima.
«(A) as Kohima (B) as Kohima's
(C) like Kohima's (D) Noimprovement
176.  River Damodar in West Bengal carry the effluents
from the Durgapur industrial complex for miles.
— (A) carries the effluents
(B) carries the effluence
(O) carried the effluents
(D) Noimprovement
177. The blue whale was thriving in all of the world’s
oceans until the turn of the century, at which time
they became hunted to the point of extinction .
® (A) Thebluewhale was thriving in all of the world’s
oceans up until the turn of the century
(B) Blue whales were thriving in all of the world’s
oceans until the turn of the century
At the turn of the century , blue whales were
thriving in all of the world’s oceans
(D) Noimprovement

170.

171.

172

173.

« ©



178.  They were being commanded to wait till the signal
Was given.
(A) given command
(C) command

(B) commanded <~
(D) Noimprovement

I was struck by his singular appearance .
(A) struck by his single appearance

(B) had stricken his single appearance
(©) struck by how he singularly appears
(D) Noimprovement

179.

180. We have been retracing our steps to the log cabin
ten minutes ago.,
- (A) had to retrace

(Q) will be retracing

(B) havetoretrace
(D) Noimprovement

181. Hebowed down at the altar.
(A) mnfrontof the altar (B) next o the altar
(Q before the altar (D) Noimprovement

182. | hope you will be able to steer ahead of the anti-
social elements .

— (A) stecrout (B) steerclear

(O) steer free (D) Noimprovement

183. John decided to go to the Advocate General to clear

his name of the accusation
v~ (A) toclean his name
(O) to wash his name

(B) tocleared his name
(D) Noimprovement

Directions : In questions number 184 to 188 sentences given
with blanks to be filled in with an appropriate word(s).
Four alternatives are suggested for each question. Choose
the correct alternative out of the four and indicate it by
blackening the appropriate oval | @B in the Answer Sheel.

184. He was by nature and so avoided all
company.
(A) anti-social « (B) cordial
(O) gregarious (D) timid &

185. The United Kingdom
Scotland and Northern Ireland.
(A) comprises (B) combines -
(O comprises of (D) consists

England, Wales,

186. |Jyoti refused to be by her long illness .
— (A) dispensed (B) dispirited
(C) dispersed (D) dispatched
187. limsuffered a of fortune.
(A) reversal (B) revert «
(C) regress (D) reverse
188. He will impart no information anyone.
(A) o (B) from (©) with (D) for

v
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Directions : In Questions No. 189 to 195, out of the four
alternatives, choose the one which can be substituted for
the given words/ sentences and indicale it by blackening
the appropriate aval | @ | in the Answer Sheet.
189. Someone who is designated to hear both sides of a
dispute and make a judgement.
(A) megistrate (B) manager
— (O) arbitrator (D) counsellor
190. Todie without making a will.
(A) inure (B) intestate
() inane (D) indigent
191.  Make pale by excluding light.
— (A) Eliolate (B) Procreate
(€) Percolate (M) Foliate
192.  Opinion contrary to accepted doctrines.
(A) Convention (B) Controversy «

(O Advocacy (1) Heresy

193. One who isconcerned with the welfare of others .
(A) Hedonist (B) Ascetic —
(O Altruist (D) Egoist

194.  That which cannot be avoided.

(A) unvarying (B) inevitable —

(©) unrestrained (D) integral
195. A person who agrees to work for somebody in order

to learn a skill.
(B) Apprentice -~

(©) Lackey (D) Assistant &
Directions : In questions number 196 0 200, some parts of
the sentences have errors and some are correct. Find out
which part of a sentence has an error and blacken the oval
| @] corresponding to the appropriate letter (A, B, Q). Ifa
sentence s free from error, blacken the oval corresponding
to (D) in the Answer Sheet.

196. We have finished our work /
(A)

three hours ago and have been wailing /
(B)
for vou since then. /No error
© D)

(A)
to determine the exact concentration /

197.

of lead in the water supply. / Na error
© (D)

Several guests noticed Mr. Sharma /

(A)
falling back in his chair / and gasping for breath.
(B) ©

198.

No error

(D)

Many a man /want to be /rich quickly./ No error

(A) « (B) (©) )

The Russian ambassador’s / whereabouts is /
(A) (B)

not known to anvone. / No error

© o >

199.






